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Attempt any Five questions.
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E&plain the concept of a production possibility curve and

show the following situations on a PPC :

() Full and efficient utilization of resources

(if) Attainable and non-attainable combinations of output. 8

- Differentiate between movements along the demand curve

Iand shifts of the demand curve. . 7
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Draw demand curve with price elasticity equal to t

(0 -1

(i) Zero

(iif) --eo (minus infinity). ' 6

What are the factors affecting price elasticity of demand

and elasticity of supply ? A 9
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" What are the implications of a price ceiling imposed by ~

the government. Give examples and draw relevant

diagrams. . i 8

What is consumer’s surplus ? Illustrate how consumer’s

surplus is calcutated with the help of a diagram. - 7
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What are indifference curves ? State and explain their

properties. 7

Derive the demand curve for a Giffen good from the price

consumption curve. . 8
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What is an isoquant ? Explain its various

properties. ' 7

Explain the equilibrium of a firm with the help of isoquants

and isocost fines. 8
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6 (&) Given the following cost schedule for a firm, calculate TFC,

TVC, AFC; AVC, AC and MC :

Output Total C{.)SF
0. 10 '

1 , 20

2 3

3 M

4 38

'5 Q2

6 | 48.

7 3

8 | . 6
()] Explain the relevance of returns tq scale for the shape of

the long run average cost curve. What are the sources of

returns to scale 7 ‘ . . 9
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7. A{a) Explain the equilibrium of a perfectly competitive firm making

supernormal profit in the short run. 7

(b What is allocative efficiency 2 Why is the outcome under

perfect competition'alloce.llively efficient ? _ | 8
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(a). Equivafem variation ; -

(b) Long-run supply curve for a rising cost industry under

perfect competition;
(©) | Law of equi-marginal wrility. )
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